Aeg TGT CIRCUIT 2018 218 IINZHU—2F=RI5T
[EiE] BFI IR &R 2018.6.10
AJOwvY () @ ® @ DJOwvY ) @ ®
° FEEEINE] 6-0 -6 ° TR LA 26 6-2
(Run up) @] X &%) X @]
o UH ] 0-6 B . FEaE =N 6-2 6-1
(9 13297) x (A&F) o) e
® Al = 6-4 -6 ® R Em 26 16
(P5993) o) x (Ah3971) x x
=5 5 6-4
@ (TGT) N o)
BJOwvY @ @ ® @ EJOvY ) @ ®
iR E&8 6-0 6-1 T Afe 6-0 26
@ (S772) e e o (FREE) o x
=H Bk 0-6 0-6 EEED 0-6 16
@ (T-Egg) x x @ (V)] X X
iR & 16 0-6 R &a 6-2 6-1
® A-h3991) x x @ (L1l's) e e
s a5 6-0 6-0
@ (793-) o) o)
cJovy ) @ ® @ FJOwvo ) @ ®
° s 15 6-0 6-0 ° W bk 36 6-2
(TGT) e o) (TGT) x o)
° EE R 0-6 36 ° B E 6-3 -6
(FREE) X X (9IAREN) O X
® MEET 0-6 56 ® A EH 26 6-4
(FREE) x x (AHQ) x o)
® XH A 6-3 6-5
(793-) o) o)
RBS R —F A M - AT h—F A~
= 1R S
(TGT) (A-N399R%)
FRE AR 6 bey 1
(r&8) 3 |4 4
Al Eth 6 TEER &
7Ry 6 Ahaouky T 1
B ¥ 3 W #EEs 2 |
OIAML) T (5 1+39) 4
hEE A 6 |6 WA 2
(Fi's) To) (FREE) 1
e a5 Eil Eoth 4
(793-) 3 (5 13297) 4
iy =) [6 M 18k p
(A&F) (T-Egg) o |
B AR 6 A {E8H 4
aen T o2 (AHQ) 4
IR KR 2 EE R 2
(FREE) - 1 (FREE)
IR S4B 6
(S722) B
HKE OBA 0 |6
@w-y - |2
He 3
(Run up)

100% ZibYH—F & #WER

Sinns FI=".



K& e RE 551l p2[ml| 25310l | 2840 | 5550l | 2R6IEl | /Bl | 2580l | 550l 251000 551 100] 21 (5]
IR BB (57=X) 36 8 8 10 10
ma 5 (TGT) 34 10 6 10 8
Hp  5hid (Run up) 32 4 8 6 6 4 4
IR KAE (FREE) 20 4 4 4 4 4
FEE HRAB | (Noahl.S&®) 20 4 4 4 4 4
ey Z=Rk (TGT) 20 4 4 4 4 4
aE % (JFavad-) 20 6 4 4 6
BRI % (FFEsR) 19 10 5 4

hE B4 (£1's) 18 4 4 6 4
=81 A (FREE) 16 4 4 4 4

B BE (BANBOO) 14 6 4 4

KA BA Oz av3d-) 13 4 5 4
15 &t (554X) 12 8 4

BH EX (FREE) 12 4 4 4

Bfm  FE (IR NELF=RTHFE—) 12 4 4 4
WA s (FREE) 10 6 4

i BRsE (FREE) 10 6 4

gl £ (TGT) 10 10

=5 & (TGT) 10 6 4
AT BB (LEFHEE) 9 4 5

o e (AHQ) 9 4 5
EE [EE (FREE) 8 4 4

e #hz (bvT32) 8 4 4

EFE =& (WS=+ /() 8 4 4

Hll B (FREE) 8 4 4

S FPER (FREE) 8 4 4

WA X (FREE) 8 4 4

Z2H A (Noah.1.S&%) 8 4 4

ERIS REE (FFlEER) 8 4 4

JHEF B (MFEFRAFETC) 8 8

A =R (FREE) 8 4 4
xR = (A=ILTZDUR) 8 4 4
BR AE (FREE) 8 4 4
i e (A=ILZITUR) 8 4 4
=T RE (T-EGG) 6 6

iy =2 (A&F) 6 6
56 AKX (SC7U kR) 5 5

=HE RE# (FREE) 4 4

FE %S (FREE) 4 4

LR e (FREE) 4 4

KA BE (FREE) 4 4

hH =X (FREE) 4 4

WA fBE (FREE) 4 4

P AKX (TGT) 4 4

M T¥KEB (REX{#F) 4 4

Bk H=E (TGT) 4 4

[T (TGT) 4 4

AR 3hZ (FREE) 4 4

BE Xith (WS=+)(>) 4 4

E S (FREE) 4 4

FE K— (WS=+)(>) 4 4

Ml Bz (TGT) 4 4

B'/E & (FREE) 4 4

08 A (FREE) 4 4

FE A (FREE) 4 4

FH BA (FREE) 4 4

IR HfEh (TGT) 4 4

NE 2 (FREE) 4 4




